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x
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∫ f x dx= F b − F a = lim F x − lim F x

lim 3 x− 2

= 3 1 − 2

= 3 −1

lim 3 x− 2

= 3 2 − 2

= 0

= 0 − 3 −1

= 0 − 3 −1

= 3

( ) 3
1
 

Add a constant to the solution

( ) 3
1
 

Compute the boundaries:    ∫
x− 2

1
 dx= 0 − 3 −11

2

( ) 3
2
 

( ) 3
1
 

a
b

( ) ( ) ( ) x→ b− ( ( ) ) x→ a+ ( ( ) )

lim 3 x− 2 = 3 −1x→ 1+ ( ( ) 3
1
 ) ( ) 3

1
 

x→ 1+ ( ( ) 3
1
 )

Plug in the value x= 1

( ) 3
1
 

Simplify

( ) 3
1
 

lim 3 x− 2 = 0x→ 2− ( ( ) 3
1
 )

x→ 2− ( ( ) 3
1
 )

Plug in the value x= 2

( ) 3
1
 

Simplify

( ) 3
1
 

( ) 3
1
 

Simplify

∫
x− 2

1
 dx= 3 ·  2

2

4

( ) 3
2
 

3
1
 

Sym
bolab



2/11/2019 integral of (1 to 4\) frac{1}{(x-2)^{ 2/3 }} - Step-by-Step Calculator - Symbolab

https://www.symbolab.com/solver/step-by-step/%5Cint_%7B1%7D%5E%7B4%7D%5Cfrac%7B1%7D%7B%5Cleft(x-2%5Cright)%5E%7B%5Cfrac%7… 5/9

Hide Steps

Show Steps

Hide Steps

Hide Steps

∫
x− 2

1
 dx

∫
x− 2

1
 dx

= ∫
u

1
 du

= ∫ u du

=
−

3
2
 

+ 1

u
 

Substitute back u= x− 2

=
−

3
2
 + 1

x− 2
 

−
3
2
 

+ 1

x− 2
 

−
3
2
 + 1

= −
3
2
 +

3
1 ·  3
 

2

4

( ) 3
2
 

Compute the inde�nite integral:    ∫
x− 2

1
 dx= 3 x− 2 +C
( ) 3

2
 

( ) 3
1
 

( ) 3
2
 

Apply u − substitution:  u= x− 2

3
2
 

u

1
 = u

3
2
 

−
3
2
 

−
3
2
 

Apply the Power Rule:    ∫x dx= a+ 1
x
 ,      a≠ −1

a a+1

−
3
2
 +1

( ) −
3
2
 +1

Simplify 
−

3
2
 + 1

x− 2
 :    3 x− 2( )−

3
2
 +1

( ) 3
1
 

( ) −
3
2
 +1

Join −
3
2
 + 1:    

3
1
 

Convert element to fraction:     1 =
3

1 ·  3
 

Sym
bolab



2/11/2019 integral of (1 to 4\) frac{1}{(x-2)^{ 2/3 }} - Step-by-Step Calculator - Symbolab

https://www.symbolab.com/solver/step-by-step/%5Cint_%7B1%7D%5E%7B4%7D%5Cfrac%7B1%7D%7B%5Cleft(x-2%5Cright)%5E%7B%5Cfrac%7… 6/9

Hide Steps

Hide Steps

Hide Steps

Hide Steps

=
3

−2 + 1 ·  3
 

−2 + 1 ·  3

Multiply the numbers: 1 ·  3 = 3

= −2 + 3

Add/Subtract the numbers: − 2 + 3 = 1

= 1

=
3
1
 

=

3
1
 

x− 2
 

x− 2

−
3
2
 + 1

= −
3
2
 +

3
1 ·  3
 

=
3

−2 + 1 ·  3
 

−2 + 1 ·  3

Multiply the numbers: 1 ·  3 = 3

= −2 + 3

Since the denominators are equal, combine the fractions:    c
a
 ± c

b
 = c

a±  b
 

−2 + 1 ·  3 = 1

( ) − 3
2
 +1

x− 2 = x− 2( )−
3
2
 +1 ( ) 3

1
 

( )−
3
2
 +1

Join −
3
2
 + 1:    

3
1
 

Convert element to fraction:     1 =
3

1 ·  3
 

Since the denominators are equal, combine the fractions:    c
a
 ± c

b
 = c

a±  b
 

−2 + 1 ·  3 = 1

Sym
bolab



2/11/2019 integral of (1 to 4\) frac{1}{(x-2)^{ 2/3 }} - Step-by-Step Calculator - Symbolab

https://www.symbolab.com/solver/step-by-step/%5Cint_%7B1%7D%5E%7B4%7D%5Cfrac%7B1%7D%7B%5Cleft(x-2%5Cright)%5E%7B%5Cfrac%7… 7/9

Hide Steps

Hide Steps

Hide Steps

Add/Subtract the numbers: − 2 + 3 = 1

= 1

=
3
1
 

= x− 2

=

3
1
 

x− 2
 

=
1

x− 2 ·  3
 

Apply rule 
1
a
 = a

= 3 x− 2

= 3 x− 2

= 3 x− 2 +C

∫ f x dx= F b − F a = lim F x − lim F x

lim 3 x− 2

= 3 2 − 2

= 0

( ) 3
1
 

( ) 3
1
 

Apply the fraction rule:    

c
b
 

a
 = b

a ·  c
 

( ) 3
1
 

( ) 3
1
 

( ) 3
1
 

Add a constant to the solution

( ) 3
1
 

Compute the boundaries:    ∫
x− 2

1
 dx= 3 ·  2 − 0

2

4

( ) 3
2
 

3
1
 

a
b

( ) ( ) ( ) x→ b− ( ( ) ) x→ a+ ( ( ) )

lim 3 x− 2 = 0x→ 2+ ( ( ) 3
1
 )

x→ 2+ ( ( ) 3
1
 )

Plug in the value x= 2

( ) 3
1
 

Simplify

Sym
b



2/11/2019 integral of (1 to 4\) frac{1}{(x-2)^{ 2/3 }} - Step-by-Step Calculator - Symbolab

https://www.symbolab.com/solver/step-by-step/%5Cint_%7B1%7D%5E%7B4%7D%5Cfrac%7B1%7D%7B%5Cleft(x-2%5Cright)%5E%7B%5Cfrac%7… 8/9

lim 3 x− 2

= 3 4 − 2

= 3 ·  2

= 3 ·  2 − 0

= 3 ·  2 − 0

= 3 ·  2

= 3 + 3 ·  2

lim 3 x− 2 = 3 ·  2x→ 4− ( ( ) 3
1
 ) 3

1
 

x→ 4− ( ( ) 3
1
 )

Plug in the value x= 4

( ) 3
1
 

Simplify

3
1
 

3
1
 

3
1
 

Simplify

3
1
 

3
1
 

m
bolab



2/11/2019 integral of (1 to 4\) frac{1}{(x-2)^{ 2/3 }} - Step-by-Step Calculator - Symbolab

https://www.symbolab.com/solver/step-by-step/%5Cint_%7B1%7D%5E%7B4%7D%5Cfrac%7B1%7D%7B%5Cleft(x-2%5Cright)%5E%7B%5Cfrac%7… 9/9

Graph

Plotting: 
x− 2

1
 
( ) 3

2
 

Sym
bolab


